New Zealand Christmas Calculations
Code Breaker

A popu/ar parT of the bui/d—up to Christmas for many peop/e IS aﬁendmg a Christmas p/ag.
Some New Zealand schools and churches act out the sTorg of Jesus birth. But how did this

tradition begm ?

The first Christmas p/a% was performed in a cave In ]Ta/%./ Saint Francis and his followers told
the 5Tor£1 of the first Christmas using wooden figures for /\/\arg, Jose/z)h and Jesus. Later, /oeop/e

acted out the roles and sang songs to tell the sTor%. Sometimes real animals were used, too!

Challenge
Solve the maths calculations on the fo//owmg pages fo spe// out some Christmas p/aﬂ—ﬂvemed

u/ords, and a few Jo/ees fo make gow aud/'ence sm//e!
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New Zealand Christmas Calculations Code Breaker

I Answer Letter L. Answer Letter
I ox | 90 - L5
Lo - 21 33 + |7
|7 x 2 50 - 50
30 - 12 § x5
8 -7 Spells
9 x |0
Spells 5. Answer Letter
100 - 76
2. Answer Letter § + 8
65 - 20 [0 x 5
L6 + L 3 x5
100 - 99 6 x [0
50 = 10 L2 - 27
66 - Lb 92 - L7
L5 5 9 x 10
S/oe//s S/ne//s
3. Answer Letter . Answer Letter
10 = 10 50 = 10
L7 - 23 I'7 - 16
6/ - 55 § x5
|18 = 2 5 x5
L x5 100 - &80
9 x5 36 + 9
S/oe//s S/oe//s.-
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New Zealand Christmas Calculations Code Breaker Answers

Answer Letter L. Answer Letter
/x| / d 90 - L5 L5 s
Lo - 21 25 0 33 + |7 50 f
|2 x 2 2L n 50 - 50 / a
30 - 12 & k & x 5 L0 r
|18 = 2 9 e Spe//s: star
9 x 10 90 y
Spe//s: c/on/eey 5. Answer Letter
100 - 76 2L n
2. Answer Letter 5+ 5 | a
65 - 20 L5 s [0 x 5 50 f
Lo + L 50 t 3 x5 5 i
100 - 99 | a 6 x [0 60 v
50 = [0 3 b L2 - 27 5 i
66 - Lb 20 I 97 - L2 50 t
L5 + 5 9 e 9 x 10 90 y
Spe//s: stable S/oe//s: nafivity
3. Answer Letter . Answer Letter
10 = 10 / a 50 = 10 5 c
L7 - 23 2L n I7 - 16 / a
b7 - 55 12 g g x5 L0 r
18 = 2 9 e 5 x5 25 0
L x5 20 I 100 - §0 20 I
9 x5 L5 s 36+ 9 L5 s

SPQ//S.‘ ange/s

SPQ//S.’ caro/s

ey
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New Zealand Christmas Calculations Code Breaker

a b c d e f 9 h i J k | m
l 3 5 / 9 (11121 15]16]| 18| 20 | 22

n 0 p q r s t u v w X Y z

2 1 25|30 | 35 | LO | L5 | 50| 55 60| 70 | 80 | 90 | 100

What s green, covered in berries and goes croak ?

I x 2 3 x5 60 - 151 10x5 | 37 - 1713+ 2+ Lk 5x 10 |13+ 1276 = 75| 35 =5

Answer

Letter

What do reindeer hang on their Christmas trees?

7 x 2 5x5 L x [0 l6 + & 10 = 10| Il x 2 18 = 2 {1l + 13|36+ IL| 9 x5

Answer

Letter

What do you gel‘ if you eat Christmas decorations 7

I3 37167 -52 | 15+9 |3+ 1] 3x5 [0« 2 | 30-15 {32+ 18 |b+L+5|76 - 3]
Answer
Letter
What do you call /‘_rosfg the Snowman in Januarg.?
29 - 28 3510 | 1l x5 |35 =5 [ b+ 2| ko- 26| 29- 20
Answer
Letter
What do elves learn at school 7
26 + 2L T x2 |18+ 2 90 + 10| kx5 [IIO = 10| 2+ 2 | 6+ 2 |90 = 10| 5«x 10
Answer
Letter
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Christmas Code Breaker Answers

a b c d e f q h i J k | m
/ 3 5 7 9 I 12 | IL | I5 )16 | 18| 20 | 22

n 0 P q r s t u v w ' Yy z

21 25 | 30 | 35 | LO | L5 | 50 | 55 | 60 | 70 | 80 | 90 | 100

What s green, covered in berries and goes croak ?

w2 | 305 [ 6015|105 |37 -17]3+2+¢ 510 |13+ 12|76 - 75| 35 + 5
Answer | 22 | 15 | LS | 50 | 20 9 50 | 25 | 7
Letter M i s t | e t 0 a d
What do reindeer hang on their Christmas trees?

7 x 2 5x5 Lx (0] 16+ 8 10 =10 11 D218~ 2|1l +13[36+ IL| 905
Answer | L | 25 | LO | 2L I 22 9 2L | 50 | L5
Letter H 0 r n a m e n t s

What do you gel‘ if you eat Christmas decorations 7

13037 | 67 -52 | 15+ 4 |30 11| 3.5 | 10x2 | 30-45 |32+ 08 6t5|76 -3
Answer | 50 I'5 2L L5 I'5 20 I'5 50 I'5 L5
Letter T i n s i [ i t i s
What do you call Frosty the Snowman in January ?

29 - 78 5 x 10 x5 135 =51 1L+ 2|46 -26)| 29- 20
Answer | | 30 | 55 / / 20 9
L etter A P u d d I e
What do elves learn at school ?

26 + 2Lk 7 x 2 18 + 7 90 = 10| L x5 11O = 10| 2 = 2 6 =2 (90 = 10| 5 x 10
Answer | 50 | L 9 9 20 I | 3 9 50
Letter T h e e [ f a b e t
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